Accelerated System Problems
1. A skydiver has a mass of 60 kg and he reaches a terminal velocity of 45 m/s before opening his parachute.   After falling an additional 30 meters, his velocity is now 25 m/s.

a. What was his acceleration during the 30 meter distance?

b. What was the upward force exerted on the parachute during this time? (Ignore the parachute mass)

2. Using the diagram to the right and assuming there is no friction,

.  



         

a. Find the acceleration of block A (10 kg).

b. Find the acceleration of block B (4 kg).

c. Find the tension in the rope.




    A











 10 kg

3. Now assuming that there is 10 N of friction between block A 


and the table.

a. Find the acceleration of block A (10 kg).

b. Find the acceleration of block B (4 kg).
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c. Find the tension in the rope.

4. In the diagram below, find the acceleration of block A, block B and the tension in the rope.
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5. Find the tension, Ft, in the picture to the right.

    Ft


(assume no friction)
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